- S o 7
08 2

N 3

\

TARGET 25/29

BY MANDEEP MAHENDRAS 1@ 4

LIVE | 05:30 PM




* Six boys are sitting in a circle and all of them are sitting facing the center of the circle.
R sits to the immediate right of M, but he 1s not to the immediate left of V. S is in
between B and V. A sits to the immediate left of V. Who sits second to the right of V?

* T: TISh Uh I H oI3 @ ST I8 Ol I o ohg 3! L HE ieh oIS & | R, M o dcshlel af
T ST &, ek 98 V o qid aTg AL AR &l S, B 3RV sh = H | A,V o dcshled a5,
ST SI3T 2 V 26 Gl AR THL TAT T i 13T 27




*® If in a certain code language 'ENQUIRY" 1s written as 'FPTYNXF', then how will
'DENTIST' be coded in that language?

* I Th HiEId s WM H 'ENQUIRY' &1 'FPTYNXF' fT@T SITdT &, o1 SHT 9IST § 'DENTIST'
! foh¥ JehIL shesleg, foham ST

1. EGQXNYA
2. EGQNXYA
3. EGQNXAY
4. EGQXAYN




* [f CAB=36 and. SKY = 100 then find the code for BUS.

* Jfd CAB = 36 I SKY = 100 df BUS o ¢ shig J1a shifsiu]

1.125

2.24

3.64

4.36



® The position of M 1s 7th from the left corner and the position of N 1s 5th from the right
corner. If only four members are sitting between them then find out what 1s the total
strength of this queue?

(e

* M T €A I SR F 797 3T N hT TIM - SR Y 597 8| AT 9 SHT o s H shdT 4 Ak 9
T 2 1 FaTsd 39 Ufh H e foha

A.16
B.15
C.13




*5*6=61

*6*4=60

*7%8=77?
A.113
B.115
C.114

D.None of these




* COUNT THE TRIANGLE

o aw




If ‘A @ B’ means ‘A is the mother of B’,
a\ @ B’ means ‘A is the father of B’,

‘A @ B’ means ‘A is the sister of B’, and
a\ @ B’ means ‘A 1is the brother of B’,

then which of the following options 1s false based on

the expression

'D@E@F@G@H@I'? 1. D is father of F.
2. Eis aunt of H.
3. Gis father of I.

4. F is grandfather of I.




* Select the odd number from the given alternatives

o fau T forehedi | o forsm @i shi gy

1) 672

2) 528

3) 119

4) 771



* A child walks 1m to the east on its knees. Now it turns to its right and walks 2 m. After
this, it takes another 4 m with a U-turn, Finally, 1t turns to its right and walks 1 m. Which

direction 1s the child facing now?

* Teh sl eI o o | HiE qdl =IefdT 8| 3 98 0T 3 HEdT & N 2 HIeT <AeAdT & $6eh SI1e
I8 Tl IS (F-2) TR 4 WL S FAAAT 21 37 H, 98 379 3T 7T § I | HeT e 2
e 319 ohd TaeTT o TV e &7

1) East/tjff

2) West / 9I5|

3) North /3T

4) South/gfeTor



A.126
B.133
C.220
D.160



* OPPOSITE TO 6

A3

B. 2
C. 1
D.5



The present ages of Ash and Aly are in the ratio of 2: 3. If 9 years ago Aly's age was 21
years, then what will be the age of Ash after 11 years?

UST S USAT oAl SIAHT 31T 2 : 3 oh U H 1 (< 9 o Tt Tedl sht 3 21 a1 off, r Uzt sh
AT 11 Y SI1e T gt

A.31
B.44
C.56
DN




*3, 27,64, 100, 125, 216, 343

A.27

e ()
C. 125
D. 343




* In each of following questions, four words have been given of which three are alike in
some way and one is different. find the odd one out.

o ffefad g g 4 91 vree fou o 8 o @ 9 foret Tohr @ Ter 919 @ 31T Uer firet 2
forom =)

1. Banana
2. Mango
3. Cashew

4. Guava




* A clock 1s set right at 8 a.m. The clock gains 10 minutes in 24 hours will be the true time
when the clock indicates 1 p.m. on the following day?

* T TS I YoIg 8 oISt 3leh G foham ST &, =l 24 5 H 10 e 311 o1g STt 2, I8 |et and
BT ST Bl | s ST shiell € g for?

A) 48 min. past 12.
B) 46 min. past 12.
C) 45 min. past 12.
D) 47 min. past 12.




AL 20160
B. 20600
C .21060
D.23040




* Select the letter-pair that can replace the question mark (?) in. the following series

o ARG ST § Fear=ieh forg (?) o T U 3 el &I shi =T hifSg

* BA, DC, FE, HG, ?, LK

(A)TJ

(B) JI

(C) LM

(D) ML



